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IB Economics

Higher Level

Paper 2 (sorted by syllabus section)


May 1988 – Nov 2011

Microeconomics

1.
Compare the operation of a cartel with the operation of a competitive market.

[M 88, 1]

2.
Outline the factors, which determine the shape of a firm's cost curves, using diagrams and an example.

[M 89, 1]

3.
Why does product differentiation often occur in industrialized countries?

[M 89, 2]

4.
What problems does the incentive structure of a planned economy of the Soviet type present for economic efficiency?

[M 89, 3]

5.
Outline the incentive structure facing a factory manager in a centrally planned command economy of the Soviet type.

[M 90, 2]

6.
In what circumstances will price discrimination be profitable for a firm?

[M 90, 5]

7.
Why might the elasticity of supply for a given product vary over time? Give an example.
[M 90, 6]

8.
Explain why economists distinguish between the short-run and long-run when examining how the costs of a firm behave as output increases.

[M 91, 1]

9.
Use supply and demand analysis to demonstrate why lines of people often form when prices are controlled.

[M 91, 2]

10.
With the aid of a diagram describe how knowledge of supply and demand analysis might help a city council, which is looking for ways of reducing traffic congestion in its city centre.

[M 92, 1]

11.
Explain how the law of diminishing returns is relevant to the problem of insufficient food production in certain countries.

[M 92, 2]

12.
What is it that it is ‘planned’ in a ‘planned’ economy?
[M 93, 2]

13.
How might the elasticity of a demand curve affect the shape of its total revenue curve?
[N 93, 1]

14.
In the short-run, at what price level will a perfectly competitive firm be prepared to produce?

[N 93, 2]

15.
A government is thinking of raising revenue through expenditure taxes. Why would knowledge of price elasticities of demand be useful?

[M 94, 1]

16.
Using supply and demand curves, explain how buffer stocks might be used to try to stabilize agricultural prices. {uploaded}
[M 94, 2]

17.
Under what circumstances might consumers benefit from the existence of a monopoly?

[M 94, 3]

18.
In many developed countries the price of house has risen steadily over the recent years, while more and more people have been buying houses. Use supply and demand analysis to explain why this has happened.

[M 95, 1]

19.
Explain the difference between ‘diseconomies of scale’ in the long-run and ‘diminishing returns’ in the short-run.

[M 95, 2]

20.
Define the word ‘cartel’ and with an example explain what cartels try to achieve.

[M 95, 3]

21.
What would be the main externalities of a decision to build a new international airport near your school or home.

[M 95, 5]

22.
Discuss how a monopoly might produce a higher output at a lower price than a perfectly competitive industry.

[N 95, 2]

23.
Briefly state what is meant by the productivity of a factor. For what reasons might the productivity of land change over time?

[N 95, 3]

24.
A government tries to deal with the problem of homelessness by putting rent controls on housing. Use a supply and demand diagram to explain why other policies will also be necessary.

[M 96, 1]

25.
Explain why an oligopolistic firm might not wish to alter its prices.
[M 96, 2]

26.
What determines whether the supply of a product is price elastic or price inelastic?

[M 96, 6]

27.
A government imposes an indirect tax on the supply of a good with zero price elasticity of demand. Using a diagram, explain why consumers, not producers, could in the end pay this tax.

[N 96, 1]

28.
A monopolist decided to maximize total revenue instead of maximizing profit. Predict the effect this will have on price and output. Use a diagram to support your prediction.

[N 96, 2]

29.
Why is the concept of ‘scarcity’ important in rich countries as well as poor ones?

[M 97, 1]

30.
A business person believes that halving her prices will double her revenue. Explain why this might not happen.

[M 97, 2]

31.
A perfectly competitive industry is turned into a monopoly. Predict the effect on price and output.

[M 97, 3]

32.
In what circumstances might the existence of a monopoly benefit the public?

[Spec, 1]

33.
“In some countries the price of houses rises while the demand for houses rises.” Using supply and demand analysis, explain why this statement does not contradict the law of demand.

[Spec, 2]

34.
How might a firm be able to stay in business in the short-run, even if it is not covering all of its costs?

[M 98, 1]

35.
What are the distinguishing features of a ‘pure public good’?

[M 98, 5]

36.
Show how a supply and demand diagram could be used by an economist to help predict the possible results of introducing a national minimum wage.

[N 98, 2]

37.
A survey among 200 passengers on an aircraft reveals that people might have paid 50 different prices. Why has this happened?

[N 98, 3]
38.
The choice between military products and the provision of health care illustrates the problem of ‘opportunity cost’. Explain the nature of the problem, using a production possibility frontier to help you.

[M 99, 1]

39.
Using a suitable diagram, predict what will happen to efficiency when a competitive industry is monopolised.

[M 99, 2]

40.
Explain why countries with different economic systems face the same fundamental economic problems.

[N 99, 1]

41.
Why might a firm be interested to know the various elasticities of demand for its product? 
[N 99, 2]

42.
What is meant by market failure? Explain why pollution may cause market failure.

[M 00, 1]
43.
Explain why the price elasticities of both demand and supply of primary commodities tend to be relatively low in the short-run.

[M 00, 2]

44.
In what ways might a company operating within an oligopolistic market structure attempt to increase its share in the market?
[M 00, 3]

45.
Why does the weekly price of a hotel room in a popular holiday resort vary through the year?

[N 00, 1]

46.
What are the distinctions between decreasing returns to scale and diminishing marginal returns?

[N 00, 2]

47.
Briefly explain what is meant by ‘consumer sovereignty’. For what reasons might it only partly exist in real world markets?

[M 01, 1]

48.
Distinguish between the law of diminishing returns and decreasing returns to scale.

[M 01, 2]

49.
Why is pollution an example of market failure? Use a diagram to illustrate your answer.

[N 01, 1]

50.
Using real world examples, illustrate the difference between producer sovereignty and consumer sovereignty.

[N 01, 2]

51.
The price of tickets for a major tennis tournament is fixed by the organising body. At the set price, many more people wish to attend the tournament than there are seats available. Draw a diagram to illustrate this situation and use your diagram to examine the likely consequences.

[M 02, 1]

52.
A bus company decided to reduce passenger fares. Explain the possible outcomes of this decision using economic concepts.

[M 02, 2]

53.
What is a positive externality? Give an example and illustrate your answer with a diagram.

[N 02, 1]

54.
Why do some oligopolistic firms engage in non-price rather than price competition?

[N 02, 2]

55.
‘Economics is primarily concerned with the allocation of scarce resources which have alternative uses’. Use a production possibility curve to help you explain this statement. 

[May 03, 1]

56.
Explain how indirect taxation (Pigovian taxes) may be an appropriate response to the problem of negative externalities.

[May 03, 2]

57.
Explain why firms operating in a perfectly competitive market would be able to make only normal profits in the long run.

[May 03,3]
58.
Why do the prices of agricultural goods tend to fluctuate more than those of manufactured goods?

[Nov 03,1]
59.
A government increases taxation on the sale of tobacco.  Using a diagram explain how this might affect consumers and producers of tobacco.

[Nov 03, 2]
60.
Using a diagram explain how allocative and productive efficiency will be achieved in long run equilibrium in perfect competition.
[Nov 03,3]

61.
‘As price falls, quantity supplied falls.  As supply increases, price falls’.  Use supply and demand analysis to explain why these two statements do not contradict each other. 

[May 04, 1]

62.
Why is the concept of income elasticity of demand likely to be important for a producer of an agricultural product?  Use supply and demand analysis in your answer.

[May 04, 2]

63.
A firm in perfect competition is producing at the profit maximizing output but making a loss.  Using diagrammatic analysis explain how this is possible.
[May 04, 3]

64.
Use a diagram to explain why the under provision of merit goods is considered to be an example of market failure.

[Nov04, 1]

65.
Use a diagram to explain how producers and consumers might benefit from a government subsidy to an industry.

[Nov 04, 2]

66.
With the help of a diagram, explain how a buffer stock scheme is expected to work.

[Nov04, 6]

67.
A monopolist decides to maximize profits rather than revenue. Using a diagram, explain how price and quantity will change.

[Nov04, 3]

67a.
Explain why Veblen goods are an exception to the law of demand

[Spec]

67b.
To what extent can a firm in monopolistic competition earn supernormal (abnormal) profits?
[Spec]

67c.
Compare the impact of an indirect tax on the market for cigarettes with the impact of an indirect tax on the market for holidays.
[Spec]

68.
Use production possibility curve diagrams to explain the differences between actual output and potential output and between economic growth and economic development.

[May05, 1]

69.
Explain the relationship in the short-run between the marginal costs of a firm and its average total costs.
[May05, 2]
70.
Using appropriate diagrams, explain the difference between the law of diminishing returns and economies of scale.
[Nov 05, 1]
71.
Using demand and supply analysis, explain how resources are allocated through changes in prices in a market economy.
[May 06, 1]
72.
Define cross elasticity of demand and using diagrams explain what determines whether cross elasticity is positive or negative.
[May06, 2]
73.
Using appropriate diagrams, discuss whether monopoly is more efficient or less efficient than perfect competition
[May 06, 3]
74.
Use a diagram to explain how the incidence (burden) of a tax is shared among producers and consumers when an ad valorem indirect tax is placed on a good which has relatively inelastic demand.
[Nov 06]
75.
A monopoly firm decides to maximize revenue rather than profit. Use a diagram to explain what will happen to price and quantity.
[Nov 06]
76.
‘Normally, it would be expected that more would be demanded at lower prices as opposed to higher prices, all other things being equal, but this may not always be the case’.  Explain this statement.
[May 07, 1]
77.
Explain the law of diminishing returns using average and marginal product curves.
[May 07, 2]
78.
Explain how scarce factors of production are allocated by the free market.
[Nov 07, 1]
79.
With the help of a diagram, explain when a firm should shut down in the short run.
[Nov 07, 2]
80.
Explain the concept of a natural monopoly
[Nov 07, 3]
81.
Explain what is meant by a production possibility curve and use a production possibility curve diagram to explain the concepts of scarcity, efficiency, choice and opportunity cost.
[May 08, 1]
82.
A concert is being held in a stadium with limited seating capacity.  The organizers set the ticket prices at a level below the equilibrium price.  Using a diagram, explain the possible consequences of their decision.
[May 08, 2]
83.
Using at least one diagram, explain the difference between profit maximization and sales revenue maximization as goals of the firm.
[May 08, 3]
84.
Explain how the three basic economic questions would be answered in a free market economy and in a centrally-planned economy.
[Nov 08, 1]

85.
Using diagrams, explain the difference between the short-run and long-run profit maximizing positions of a firm in monopolistic competition.

[Nov 08, 2]

86.
Explain how the burning of fossil fuels (e.g. coal) by industries could create a market failure and a threat to sustainable development.

[Nov 08, 3]
87.
Using a production possibility curve (PPC) diagram, explain the relationship between the economic concepts of economic goods, factors of production and opportunity cost.
[May 09, 1]
88.
Explain why the marginal revenue curve is identical to the average revenue curve for a firm in perfect competition but not identical for a monopoly.
[May 09, 2]

89.
Explain how direct provision of a public good by the state government) can correct the problem of market failure.
[May 09, 3]

90.
With  reference  to  the  concept  of  economic  growth,  explain  the  difference  between  a movement along an existing production possibility curve (PPC) and an outward shift in a production possibility curve (PPC).
[May 09, 1 TZ2]
91.
Explain why prices tend to be relatively stable in a non-collusive oligopoly.

[May 09, 2 TZ2]
92.
With the aid of a diagram,
explain how the application of a flat rate tax (a specific/fixed
amount) could reduce the amount of pollution produced by a chemical factory.
[May 09, 3 TZ2]

93.
Using appropriate diagrams, explain why the relative burden (incidence) of an indirect tax on the producer and on the consumer varies, depending on the price elasticity of demand for the good (product)

[Nov 09, 2]

94.


Explain the nature of competition in a non-collusive oligopoly

[Nov 09, 3]

95.
[image: image1.png]With the aid of a diagram, explain why the price elasticity of supply is likely to change over time.




May 10

96.

[image: image2.png]Explain why an airline would want to practice price discrimination. Under what conditions would
the airline be able to do so?




May 10

97.

[image: image3.png]With the aid of a diagram, explain the impact on producers and consumers of a subsidy on a good.




May 10

98. 

[image: image4.png]With the aid of at least one diagram, explain one way a consumer might gain from the behaviour of
a monopolist and one way a consumer might lose from the behaviour of a monopolist.




May 10

99.
[image: image5.png]Using a diagram, explain why Giffen goods and Veblen goods represent exceptions to the law
of demand.



Nov 11

100.

[image: image6.png]Using a diagram(s), explain how the characteristics/assumptions of the models of perfect competition
and monopolistic competition result in different demand curves for individual firms.




Nov 11

101.

Macroeconomics
1.
What are the economic functions of a central bank?

[M 88, 3]

2.
What difficulties arise in measuring unemployment?

[M 89, 4]

3.
Outline the difference between a short-run long-run Phillips curve.

[M 90, 3]

4.
Show how a central bank may use its operations in the bond market to influence monetary growth?

[M 90, 1]

5.
Some countries have reduced direct taxation while increasing indirect taxation. What are the likely consequences?
[M 91, 5]

6.
Once statisticians have collected data on the different types of expenditure within a country, what are the main problems that have to be overcome in order to use these figures to arrive at an estimate of national income?

[M 92, 4]

7.
What criteria might an economist suggest are suitable to help decide whether a particular tax is fair or unfair, or a good or a bad tax?
[M 92, 6]

8.
Someone invents a method of forging banknotes, which are almost indistinguishable from genuine ones. How might this affect the economy of a country?
[M 93, 4]

9.
Explain how the multiplier and the accelerator might be linked to each other. {uploaded}
[M 93, 6]

10.
Explain the concept of the Natural Rate of Unemployment.

[N 93, 4]

11.
Explain how ‘double counting’ can occur in calculating national income, and how measuring ‘value added’ can overcome this problem.

[M 94, 4]

12.
Explain why some countries might find it difficult to achieve full employment at the same time as avoiding a balance of payments problem.

[M 94, 5]

13.
Why might knowledge of the shape of a country’s Phillips Curve be useful to government officials?

[M 95, 6]

14.
What is ‘demand-deficient’ (cyclical) unemployment and what can be done about it?

[N 95, 4]

15.
Keynesians and Monetarists have different views of the likely shape of a country’s aggregate supply curve. Using diagrams, show how these shapes can affect macroeconomic policy.
[M 96, 3]

16.
What measures would you need to take in order to calculate the value of a country’s multiplier?

[M 96, 4]

17.
How would a change in the marginal propensity of import affect the value of the multiplier?

[N 96, 4]

18.
Explain why a country coming out of a recession might experience a balance of payments deficit.

[M 97, 5]

19.
What are the main problems involved in obtaining a measure of inflation?

[M 97,6]

20.
For what reasons might a country’s Gross Domestic Product at factor cost be higher than its Gross National Product at factor cost?

[Spec, 3]

21.
State what Keynesian economists mean by the ‘equilibrium level of income’ and the ‘full employment level of income’ and explain why these two levels of income might not be equal to each other.

[M 98, 2]

22.
Discuss why higher interest rates may be good news for some people, but bad news for others.

[M 98, 4]

23.
Why might an increase in government expenditure have a greater multiplier effect than a corresponding reduction in direct taxes?

[M 99, 3]

24.
What is structural unemployment and what measures might governments take to combat it?

[M 99, 6]

25.
A company builds a new production unit in a certain country. Explain how this investment is likely to have a multiplier effect, and discuss reasons why this effect might take time to work.

[N 99, 3]

26.
Why might an increase in a country’s budget deficit be followed by an increase in its external trade deficit?

[M 00, 4]

27.
What is ‘crowding out and why do some economists consider it important?

[N 00, 3]

28.
What is the natural rate of unemployment?

[N 00, 6]

29.
What is demand pull inflation and what can governments do about it?

[M 01, 3]

30.
Define ‘crowding out’. What is its importance in macroeconomic policy modelling?

[N 01, 3]

31.
Use an aggregate demand/aggregate supply diagram to analyse the likely effects of an increase in interest rates.

[M 02, 3]

32.
Examine two reasons why a government might wish to control increases in its expenditure.

[M 02, 4]

33.
Use an aggregate demand / aggregate supply diagram to analyse the likely effects of an increase in income tax.

[N 02, 4]

34.
Explain why might the goal of full employment conflict with the goal of economic growth?

[M 03, 4]

35.
Use an aggregate demand/aggregate supply diagram to explain how cost push inflation may occur and outline two ways in which it might be controlled.
[M04, 4]

36.
Explain two policies that a government might use to deal with the problem of demand-deficient (cyclical) unemployment.

[N04, 4]
37.
What are the likely consequences of deflation for a country’s economy?

[M05, 3]

37a.
Using an appropriate diagram, explain how economists measure income distribution.
[Spec]

38.
Use the Phillips Curve to explain the concept of the natural rate of unemployment.

[M05, 4]
39.
Explain the multiplier effect of an increase in government spending.

[N05, 3]

40.
Using AD/AS diagrams, analyse the likely impact on an economy of the following:

(a) a general rise in wage costs

(b) the discovery of new raw material sources

(c) capital stock increases.
[M06, 4]

41.
Explain how an increase in government spending can lead to crowding out. {uploaded}
[N06, 3]

42.
Explain how a progressive tax system may be used to redistribute income.
[N06, 4]
43.
‘Macroeconomic equilibrium does not necessarily occur at full employment’. Explain this statement using the concepts of inflationary and deflationary gaps.
May 07, 4

44.
With the use of examples, explain the difference between a progressive and a regressive tax.
Nov 07, 4

45.
A government decides to raise personal income tax rates. Using diagrams, explain one possible demand side consequence and one possible supply side consequence of this decision. {uploaded}
May 08, 4

46.
Explain two ways a government can reduce its natural rate of unemployment.

[Nov 08, 4]

47.
With  reference  to  one  factor,  explain  why  some  factors  might  shift  the  SRAS  (Short-Run Aggregate Supply) curve, but leave the LRAS (Long-Run Aggregate Supply) curve unchanged.

[May 09, 4]

48.
Explain the possible impact on the distribution of income of a government shifting its main source of tax revenue from progressive direct taxes to regressive indirect taxes.

[May 09, 4 TZ2}

49.
With reference to the concept of the multiplier, explain how the level of national income might be affected by a new government spending program project worth $100 million.
[Nov 09, 4]

50.
Using an appropriate diagram, explain how a government decision to decrease income tax rates could lead to a movement along the short-run Phillips curve.
[Nov 09, 5]

51.

[image: image7.png]With the aid of a diagram, explain how the government could try to eliminate a deflationary
(recessionary) gap.




May 10

52.

[image: image8.png]With the aid of a diagram, explain how an increase in transfer payments to the poorest households
in a nation is likely to affect the Lorenz curve and the Gini coefficient of that nation.




May 10

53.

[image: image9.png]Explain how inflation can be measured and explain three problems associated with the measurement
of inflation.




May 10

54.

[image: image10.png]Using a diagram, and assuming a neo-classical aggregate demand/aggregate supply model,
explain the short-term and long-term effects of a rise in aggregate demand when a country is at
full employment.




Nov 11

55.

[image: image11.png]A government decides to increase its spending on new roads, recognizing that there will be
a multiplier effect on national income. Using a numerical example, explain what may determine
the size of the multiplier.




Nov 11

56.

International Trade
1.
Outline the principle of comparative advantage. Does it explain modern international trade?
[M 88, 5]

2.
Examine the argument that floating exchange rates are preferable to fixed exchange rates.

[M 88. 6]

3.
How do tariffs affect economic welfare?

[M 89, 5]

4.
What is meant by ‘an improvement in the terms of trade’? Does it necessarily improve a nation’s balance of trade?

[M 90, 4]

5.
Explain why a current account balance of payments deficit may or may not be a problem.

[M 91, 4]

6.
Distinguish carefully between what is measured by the ‘terms of trade’ and the ‘balance of trade’.

[M 92, 5]

7.
Using supply and demand curves, explain how a government might try to keep the exchange rate of a currency at an artificially high level.

[M 93, 1]

8.
What is meant by the ‘quality of life’ and how might it be measured?
[M 93, 3]
9.
What economic theories could be used to justify WTO’s promotion of more free trade in services?
[N 93, 5]

10.
What are the main features of a free trade area?

[N 95, 5]

11.
A firm is trying to sell in export markets. What factors can influence its competitiveness?

[M 96, 5]

12.
Explain how changes in interest rates can be expected to affect exchange rates.

[N 96, 3]

13.
Many people never travel to another country and never need to exchange currencies. Explain how their everyday lives can still be affected by exchange rates.

[M 97, 4]

14.
Explain why, in theory, freely floating exchange rates would automatically correct a balance of payments disequilibrium?

[Spec, 5]

15.
With the aid of a supply and demand diagram explain how changes in imports and exports can be expected to affect a floating exchange rate.

[M 98, 6]

16.
A country wishes to improve its ‘comparative advantage’ in producing manufactured goods. What does this mean and how it might be achieved?

[N 98, 4]

17.
Explain why deterioration in the terms of trade could bring about an improvement in the balance of payments on current account.

[M 99, 4]

18.
For what reasons might a country’s exchange rate rise?

[M 00, 5]

19.
What factors determine the competitiveness of a country in international trade?

[N 00, 4]

20.
Use demand and supply analysis to explain the possible effects of currency speculation on a country’s exchange rate.

[M 01, 4]

21.
A government decides to raise interest rates. How might this affect the external account?

[N 01, 4]

22.
Explain why deterioration in the terms of trade could bring about an improvement in the balance of payments on current account.

[N 01, 5]

23.
Explain why the depreciation of a country’s exchange rate might not improve its balance of payments?

[M 02, 5]

24.
Explain the effects of inflation on a country’s international competitiveness.

[N 02, 3]

25.
What is a voluntary export restraint and who is likely to benefit from it?

[N 02, 5]

26.
What impact is a substantial rise in the level of interest rates in a country likely to have on its balance of payments?

[M03, 5]

27.
Why might a country’s current account balance worsen as it approaches full employment?

[N03, 4]

28.
Explain two benefits which might arise from international trade.

[N03, 5]

29.
Explain how in theory balance of payments deficits and surpluses on current account are automatically adjusted under a system of flexible exchange rates.  Illustrate your answer using supply and demand analysis.

[M04, 5]
30.
How would deterioration in the terms of trade affect the current account of a country?
[N04, 5]
30a.
Why are the concepts of trade creation and trade diversion important for a country that is considering joining a customs union?
[Spec]

31.
Why might a government prefer to negotiate Voluntary Export Restraints (VERs) rather than impose tariffs as a means of restricting international trade?

[M05, 5]
32.
Using an example, explain how the concept of opportunity cost is a key element in the theory of comparative advantage











     

[Nov05, 3]

33.
With reference to the Marshall-Lerner condition, explain how the depreciation of a country’s exchange rate might affect its current account balance.
[Nov05, 4]
34.
Using an appropriate diagram, explain who gains and who loses from the introduction of a tariff

[May06, 5]

35.
Explain the link between the Marshall-Lerner condition and the J-curve effect.
[Nov 06, 5]
36.
Using the principle of comparative advantage, explain why economic theory suggests that countries should specialize and trade with each other.

[May 07, 6]

37.
Explain two reasons for an improvement in a country’s terms of trade.
[Nov 07, 5]
38.
Explain why a depreciation of a country’s exchange rate may not always lead to an improvement in its current account of the balance of payments.
[May 08, 5]
39.
Using a diagram or a numerical example, explain how the concept of comparative advantage determines which goods or services a country should export.

[Nov 08, 5]

40.
Explain two economic consequences of a favourable movement in the terms of trade resulting from an increase in demand for a country’s exports.
[May 09, 5]
41 Oil prices have risen in recent years.  Explain the likely impact on the terms of trade and the current account balance of a country that depends on oil exports for most of its revenue.
[May 09, 5 TZ2]

42.
Explain the differences between free trade areas (FTAs), customs unions and common markets as types of international integration.
[Nov 09, 6)

43.

[image: image12.png]Explain the difference between a fixed exchange rate and a floating (flexible) exchange rate.




May 10

44.
[image: image13.png]Using real world examples, explain the factors that allow a country to have a comparative advantage
in the production of a good or service.




Nov 11

45.

Economic Development
1.
In 1980 Country A (a hypothetical economy) had a Gross National Product of $100 billion, and by 1988 its Gross National Product was $150 billion. What factors must be considered in comparing welfare in 1980 with that in 1988.

[M 88, 4]

2.
Outline the operations of the International Monetary Fund in the world economy.

[M 89, 6]

3.
Why is the concept of income elasticity of demand useful to economists studying the economic development of countries?

[M 91, 3]

4.
How might an economy be affected by an increase in the average age of a population?

[M 91, 6]
5.
Gondomar and Bayona are two neighboring countries. Gondomar has a higher rate of investment whereas Bayona spends a higher proportion of its national income on consumer goods. How might these differences affect their relative growth rates in the future?
[M 92, 3]

6.
Which indicators, other than National Income, might be used to measure welfare?

[N 93, 3]

7.
How might the ‘entrepreneur’ play a role in international development?

[M 93, 5]

8.
Briefly contrast the policies of export promotion and import substitution as growth strategies in developing countries.

[N 93, 6]
9.
Bayona is a less developed country with only one main export, rice. It imports virtually everything else. Explain how Bayona can be affected by changes in the terms of trade.

[M 94, 6]

10.
Using a production possibility curve, explain the difference between a country’s actual growth rate and its potential growth rate.

[M 95, 4]
11.
Explain how income elasticity of demand can affect the balance of payments of a developing country.

[N 95, 1]

12.
Why ‘growth’ is not exactly the same thing as ‘development’

[N 95, 6]

13.
As an economy develops, a movement is often observed from primary to secondary to tertiary industry. Suggest reasons why this happens.

[N 96, 5]

14.
Why might a less developed country find it difficult to increase investment as a percentage of GDP?

[N 96, 6]

15.
The government of a Less Developed Country introduces a national lottery in order to collect revenue. What are the advantages and disadvantages of doing this?

[Spec, 4]

16.
Why is the debt problem of Less Developed Countries also a problem for More Developed Countries?

[Spec, 6]
17.
Why are vegetables from Africa on sale in European shops, while many Africans are under-nourished?

[M 98, 3]

18.
Use a production possibility curve to explain the opportunity costs faced by a country choosing whether to consume or invest

[N 98, 1]

19.
A country with an ‘inward oriented’ development strategy changes to an ‘outward oriented’ strategy. Outline the differences which will be noticed by its citizens.

[N 98, 5]

20.
Explain what is meant by the phrase ‘sustainable development’ and discuss ways in which governments can encourage it to take place.

[N 98, 6]
21.
Outline the possible advantages of a country specialising in manufactured goods instead of primary products.

[M 99, 6]

22.
A Less Developed Country exports tea and imports most of its consumer durables. Explain why the terms of trade are likely to move against this country and discuss the consequences.

[N 99, 4]

23.
Explain why primary school education for girls is considered by many economists to be particularly worthwhile investment in Less Developed Countries?

[N 99, 5]

24.
What do you understand by the term ‘sustainable development’? Give an example of development, which you believe is not sustainable, and explain why.

[N 99, 6]

25.
The government of a Less Developed Country decides to reduce the extent of income and wealth inequality. What methods could the government use to achieve its goal?

[M 00, 6]

26.
Distinguish between the forms of aid which a developing country might receive.

[N 00, 5]

27.
As countries reach an advanced stage of development, the tertiary sector tends to expand relatively faster than the primary and secondary sectors. Why is this the case?

[M 01, 5]

28.
Poor people in less developed countries often derive little benefit from economic growth. Why might this be so?

[M 01, 6]

29.
What is human capital? Explain its importance in economic development.

[N 01, 6]

30.
In what ways might a more equal distribution of income contribute to economic development?
[M 02, 6]

31.
Why might a less developed country find difficulty in maintaining stable export revenues?

[N 02. 6]

32.
Explain two reasons why international indebtedness is a problem for less developed countries.
[M03, 6]
33.
Explain two ways in which multinational corporations might hinder the development of less developed countries.

[N03, 6]
34.
Use a production possibility curve to explain the distinction between economic growth and economic development

[M04, 6
34a.
Use the Harrod-Domar model to explain the barriers to growth that may be faced by developing countries.

[Spec]

35.
Use production possibility curve diagrams to explain the differences between actual output and potential output and between economic growth and economic development.
[M05, 1]
36.
Explain how overdependence on primary products may act as a barrier to economic development.

[M05, 6]

37.
Explain why economic growth is likely to generate external costs, which are a threat to sustainable development.

[N05, 5]

38.
Explain the difference between outward-oriented and inward-oriented growth strategies.

[N05, 6]

39.
Explain two ways in which the international indebtedness of developing countries might hinder their growth and development.

[M06, 6]

40. Explain which is likely to be higher in a Less Developed Country, Gross National Product or Gross Domestic Product?
[Nov06, 6]

41. Distinguish between an outward oriented growth strategy and an inward oriented growth strategy.
[May 07, 5]

42.
Explain the role of Fair Trade organizations and micro credit schemes in promoting economic development.
[Nov 07, 6]
43.
‘Indebtedness, non-convertible currencies and capital flight are all significant barriers to economic development’.  Explain two of these three factors.
[May 08, 6]
44.
Explain how the burning of fossil fuels (e.g. coal) by industries could create a market failure and a threat to sustainable development.
[Nov 08, 3]

45.
Using the Harrod-Domar growth model, explain how a country can increase its rate of economic growth.
[Nov 08, 6]

46.
Explain,  using  the  Harrod-Domar  model,  how  increased  domestic  savings  could  contribute  to economic development.
[May 09, 6]
47. Explain  three  possible  limitations  of  using  GDP  as  a  measure  to  compare  welfare  between countries.
[May 09 6 TZ2]
48.
Explain how the measurement of economic growth differs from the measurement of economic development.
[Nov 09, 1]
49.
[image: image14.png]Explain the difference between outward-oriented growth strategies and inward-oriented
growth strategies.




May 10

50.
[image: image15.png]Using a production possibility curve (PPC) diagram, explain the importance of infrastructure and
education for achieving economic growth.




Nov 11

51.




c.h.ziogas

The IB @ The Moraitis School (0346), Athens, Greece

http://www.ibeconomics.org
email: ziogas11@yahoo.com
PAGE  
c.h. ziogas

The IB @ The Moraitis School (0346), Athens, Greece

http://www.ibeconomics.org
email: ziogas11@yahoo.com

